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] ACCOUNTANCY
e : 300 hrs Part - | ‘ g £ o Mnrlfg i
i: Choose the correct answer: | ‘30)( 120
L Statement of affairs is a P

Q) Statement of income and expenditure ; S

D) Statement of assets and liabilities A

C) Summary of cash transactions it b

d) Summary of credit transactions ZNRE RS R fjt
2. The amount of credit sales can-be computed from . Ayt

a) Total debtors &ccount b) Total creditors account

c) Bills receivable account d) Bills payable account

When capital in The beginning is ¥10,000, drawings during the year is ?52000 proht

made during the year is ¥2,000 and the addmonal capital introduced is ’\’3 000 Find
out the amount of capital at the end 4

a) 9,000

7

- b) 11,000 c) z21 ooo il d) %3,000

4. Income and expe’ '\"dlture accountis a. .

a) Nommala/ - b) Real a/c 4

c) Personal alc o d) Representatlve personal account
5. Legacyis % R '

a) Revenue expendrture o ) Caprtal expendlture

c) Revenue receipt L0 d) Capital receipt !

6. Thereare 500 membersina club each payrng ¥100as annual subscrlptlon Subscrrptxon
due but not received for the current year is 200, subscnptlon received in advance is
Z300. Find out the amount of subscnptlon to be shown ln the income and expenditure.

& account.

a) 50,000 . OU; 200 i ) ?49 900 " .d) %49,800
7. Which of the following is the mcorrect pair? ' ‘ i

a) Interest on drawings - Debited to capltal account

b) Interest on capital % Credrted to capital account

c) Intereston loan -.': Deblted to capital account

d) Share of profit L. Credrted to capital account

- &. When fixed capital method is adopted by a partnershlp firm, which of the followmg
items will appear in capltal accounts'?

a) Additional capitalintroduced b) Interest on capital

c) Interest on drawings ~ d) Shareof prom e
g. In the absence of an agreement among the partner’s, lnterest on cap,tal s »_ SR

a) Notallowed - . b) Allowedatbankrate

c) Allowed @5%perannum  d) Allowed @ 6% per annum 18

Kindly Send Me Your Key Answer to Our email id - Padasalai.net@gmail.com


https://whatsapp.com/channel/0029VaAqUqk9Bb672tBn033m
https://whatsapp.com/channel/0029VaAqUqk9Bb672tBn033m

www.Padasalai.Net www.Trb Tnpsc.Com

— — I ST A

2/8 ; Xl Accountancy

- Which of the following statements is not true in relation to admission of a partner

2; Generally mytyal rights of the partners change
The profit and losses of the previous years are distributed to the old partners
g; '11:26 firm s reconstituted under a new agreement
© éxisting agreement does not come to an end

- When the average profit is 225.000 and the normal profit is 15,000, super profit is

a) 225,000 b) 75,000 ¢) 210,000 ' d) 215,000

. Which of the following is true?

a) Super profit = Total profit /Number of years

b) Super profit = Weighted profit / Number of years
C) Super profit = Average profit — Normal profit

d) Super profit = Average profit x Years of purchase

- Which of the following statement is true?

a) Goodwill is an intangible asset b) Goodwill is a current asset
C) Goodwill is fictitious asset ¢~ d) Goodwill cannot be acquired

- The profit or loss on revaluation of assets and liabilities is transferred to the capital of

a) The old partners A b) The new partner

" ¢) All the partners . . - d) The sacrificing partners, =" .

Alf thqold profit sharing ratio is more than the new profit sharing ratio of a partner, the
. difference is called :
/° a) Capital ratio i ) b) Sacrificing ratio

v

- ¢ c) Gaining ratio y : d) None of these

20,

. On retirement of a bartner from a partnership firm, accoumulated pvroﬂt,s} and losses

are distributed to the partners in the £ o
a) New profit sharing ratio b) Old profit sharing ratio

¢) Gaining ratio d) Sacrificing ratio
. On retirement of a partner, general reserve is transferred to the
‘a) Capital account of all the partners ; :

b) Revaluation account
c) Capital account of the continuing partners
d) Memorandum revaluation account

. If the final amount due to a retiring partner is not paid immediately, i't_ is transferred to

a) Bankalc b) Retiring partner’s capital a/c
c) . Retiring partner’s loan a/c d) Other-partners capital a/c
‘Which of the following is the correct pair? i g 4 ;

a) Subscription ' " - Revenue'receipts

'b) Honorarium - Capital expenditure
“c) Special funds - Revenue expenditure

d) Purchase of sports materials - - Revenue receipts

‘When a partner withdraws regularly a fixed sum of money at the end of every month,
‘period for which interest is to be calculated on the drawings on an average is

a)' 5.5 months b) 6 months c) 12 months d) 6.5 months .
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21.
22.
23.
24,

25

26.

- 27.
28.

29,

30.

31.
32.

Particulars e &
Capital as'on 13! January, 2018 1,00,000
Goods withdrawn for personal use by the owner . 30,000
Additional capital introduced during the year | | 15,000
Profit for the year, = ~| ~ 60,000

. Show how the followin
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Part - |l '

; Questions. (Q.No.30 is compulsory)
What is meant by incomplete records?

Write a short note on life:membership fees.
What is meant by fixed capital method?

From the following details, calculate the capital as on 315t December 2018.

Answer any 7 7x2=14

g items appear in the income and expenditure account of Sirkazhi
Singers Association. ‘ ;

? ‘ o

Stock of stationary on 1.4.2018 . 2,600 ‘
Purchase of stationary during the year 6,500 ' 91
Stock of stationary on 31.3.2019 : 2,200 °F

The Capital account of Begum and Fatima on 15t January, 2018 showed a balance of
¥50,000 and 340,000 respectively. On 15t October 2018, Begum introduced an additional
capital of 310,000 and on 15t May: 2018, Fatima introduced an additional capital of
X9,000. Calculate interest on capital at 4% p.a. for the year ending 315t December, 2018.
What is super profit? ' h : :
Vimal and Athi are
1/4 share in the pr
Vivin, Hari and Jo
31.3.2017 Hari re

partners sharihg proﬁts in the ratio ny 2:1. Jeygm is admitted for
ofits. Calculate the new profit sharing ratio and sacrificing ratio. ;
y are partners sharing profits and losses in the ratio of 3:2:1. On

tired. On the date of retirement, the books of the firm showed a
general reserve of ¥60,000. Pass the journal entry to transfer the general reserve.

The profit and losses of a firm for the last four years were follows.

2015 -%15,000, 2016 - ¥17,000, 2017 -%¥6,000 (Loss), 2018 - 314,000
You are required to calculate the amount of

goodwill on the basis of 5'years purchase
~of average profit of the last 4 years. : e

_ Part-lll

Answer any 7 questions. (Q.No.40 is compulsory) - 7x3=21
Differentiate between statement of affairs and balance sheet. : -
Find out credit sales from the following information.

Particulars T »
‘Debtors on 15t April, 2018 1,00,000
Cash received from debtors 2,30,000
Discount allowed 5,000 -
Return inward . : 25,000
Debtors on 315t March, 2019 1,20,000
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) Particulsrs ¢ Particulars = i j
| Sporis eguirment | 30.000 | Prize fund . | 1o.con
| Compinter 25.000 | Prize fund investmant 16,000
| Subacriztion Cash in harnd 7.006
Outstanding for 2018-19 5,000 { Cash af bank 21.000
Subscription received i |
jn advance for 2010-201 8.000 :

Siate any six contents of a parinership deed.

Wannam and Ramesh share profit and fosses in the ratio of 311 The capital on 1 Aprit
2077 was 80,000 for Mannan and 160,000 for Ramesh and their current sccounts
show 3 credit balance of 710,000 and 15 000 respectively. Calculate interest ar capital
#UE% pa tor the year encling 31% March 2018 and show Ihe journal eniries.

Fing ouft the value of goodwi at three years purchase of weighted average profit of last
four yoars
i Yeaar Profit {8 Weight

2015 10,000 !

2018 12,000 2

2017 16,000 3

2018 18 000 4
Caiouiate the vilige of Gooan. "
Vinhat are the adjusiment reguired al e time of aamission of a partner?
Favitha, Kumudhs ang Laitha sre panners shanng profit and loasses in the ratio of

£33 mmapectively Xumutha retves bom the fim on 31 December 2018 On ihe
date of retvement, his Capial aocourd shows a credit balance of 12 00,000 Pass
Jourmnal entnes o

i)  The amount due i paid off snmedialely by cheque.

i} The amount due is nol pad mnedialely.

if) 70,000 is paid immediatedy Dy cheque.
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5/8 Xl Accountancy

40. Anbu la a partner in a partnorship firm. As per tho partnarship deed, interest on dra*:mg:;
i charged at 12% p.a. During the yoear onded 318 Decamber 2018 he draw as (olows,

Date T
March 1 6,000
June 1 4,000
Septembor 1 5,000
Decamber 1 2,000 |
Calculate the amount of Interest drawings by using Product Method.
Part - IV

IV. Answer all the questions. 7x5=33

41. a) Raju does not keep proper books of accounts. Followiﬂng details are taken from his

records.

Particular 1.1.2018 31.12.2018
Cash at Bank 80,000 380,000
Stock of goods 7 1,80,000 1,40,000
Debtors 90,000 -2,00,000
Sundry creditors 1,30,000 : 1,95,0q0
Bank loan kg ~ 60,000 60,000
Bill payable . 80,000 45,000
Plant and machinery 1,70,000 1,70,000

During the year he introduced further capital of 50,000 and withdraw 32,500
per month from the business for his personal use. Prepare statement of profit or
loss with the above information. ~ ‘

| (OR) ,
b) From the following receipts and payments account of Tenkasi Thiruvalluvar
Mandram. Prepare income and expenditure account for the year ended 318 March

2019. ;

Receipts 4 Payment <
To Balance b/d By Salaries 20,000
Cash in hand 14,000 | By Rent 24,000
To Interest received 5,000 | By Travelling expenses é,OOO
To Subscription 55,000 | By Printing and stationery : 6,000
To Legacies 48,000 | By Investment made 50,000
To Entrance fees - 7,000 | By Sports equipment purchased| 33,000

To Sale of furniture 16,000 | By Balance c/d
{Book value ¥17,000) Cash in hand 10,000
1,45,000 | : 1,45,000
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. 618 T Fersmvau
= fmw iollf)ww‘ parte ulare, w,«,.ume sma mn D
S wl’amv uisn 8 & i
Debiors o 49 Bl 2 _’v'?;’ 3 . % ff» lffr
{ Bilis receivabie on 1% Lo 2017 { avuy
Cash received (rom debrions R R
Received for Bill receivabie | ma
Bllis receivabie dishonoures R ¢ ¢
Sales return | 40000
Bilis receivable on 319 (argh 2018 | e |
Bundry deblors on 31 hargh 2012 | 120098 %
Cash sales 250009 .4

(©r)

b) Calculate the value of goodwill 2t 5 years pursizss of Bumer omdft fromr T Diowng

43. 2)

b)

information,
i) Captizal employed 21.20,000
i)  Normal rate of profit 20%
i) Net profit for 5 years
2014 230,000, 2015 222,000, 2015 225,000, 2077 227 00 2 2072 41 300
Fair remuneration 10 the pariners 22 399 T ANTILTL
Rzjesh 2nd Ramesh zre parherr shafing profts Mitte =in 22 Tamer s aamiies
as 2 new pariner 2nd the new proft sharing rziio s desitied Z T2 T Thlowns
revziuzlion zre made. Dﬂss jourrzl enffies 2nd oremers mimior Zomorr.
i) The vziue of building is increzs=- DyZ15,000
i) The value of the machinery is deorzzses 2 Dy Z£. 000
iy Provision for doubtful debis is made for 74 0070

(CR)
Mayilzduthurai Recreztion Ciub gives you the folowrg derais. Tr=rars Semsns
and Pzyments account for the year ended 295 Warsh 2372

)

Particulars .. 7 ParSicears ' 4
Opening cash balance { 15,000 | Satary of maicirren P R28E0
Opening bank balance 25,000 | Ciub annuzl day erpenses SO0
Donation received | 42,000 Lighting chamges B0 |
Sale of old equipment 28,0001 Enletainmet expens=s | 13S0 :
Refreghment charges 13,000 | Blliards table purchizssd | 3000 |
Club annual day collections | 18,000 | Expenses of charty show = 200
Construction of tennis court | 7,000 | Sale of invessmers P 2o ¢
Receipts from charity show | 4000| Cosing cesh bzizrze | <2700 |
Rent paid { 1.000 g
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718 /Il Accountancy

A4. 8] fmsl sod Vimal are paaners in @ firm sharng profits and losees in the rztio of 7:5,

Thelr belence shest 28 on 319 WMarch 2019 is as follows:

% Lisbilities | r 7 Assols B
| Capital scoounts | . Land 20,000
frnz { 70,000 Furniture 20,000
Yimzi 50,000 | 1,20,000] Stock : | 25,000

| Gundry crediore 20,000 | Debtors 30,000
| Proft 2nd toss Alc 24,000 | Bank 19,000
1,74,000 1,74,000

o
P

Wrrnzl is zomtied 28 2 new pzriner on 1.4.2012 by introducing a capital of 230,000

for 172 sharing in the fulure profit subject to the following adjustments,

5} Slock o be deprecizted by 25,000

i) Provigion for doubul debis to be created for 23,000 o

i) Lznd o be apprecizied by 220,000 i TR

Prepare revaluation account 2nd capitzl account of partners after admission, ‘Y
(OR) :

From @z folioving information, prepare capital accounts of partners Mannan and

Serzgen Wien helr czpitzl are fluctuating,

g Particulars Mannan ¢ Sevagan ¥

Czgiz on 12 January 2018
(Cruziznces) 2,00,000 1,75,000
| Drzvhng during 2018 40,000 35,000
{ Interest on drzvings 1,000 500
 Ehzve of prof for 2012 21,000 16,500
kierest on capitzl 12,000 10,500
&t 18,000 N NIL
Cormimisgion ' NIL 2,500

Fzrnys, Sz anvd Thara are pariners sharing profit and losses in the ratio of 5:3:2.
Cm 1% fprd 2012, Thara refires and on retirement, the followmg adjustments are
agresd ppon,

i) Inorezse the valus of premises by 2’40 000

¥ Deprecate stock by 23,000 and machinery by 26,500

iy Profide an outstanding lisbility of 2500

Pass jourma ertsies and prepars revaluation account,

(OR)
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8/8
b) Durai and Velan entered into a partnership agreement on 1%t April 20,18' Dural
contributing 126,000 and Velan ¥30,000 as capital. The agresment provided tat
) Profit and losses to be shared in the ratio 2:3 as between Durai and Velan.
i) Partners to be entitled to interest on capital @ 5% p.a.
i) Interest on drawing to be charged Durai 7300, Velan 7450
) Durai to receive a salary of ¥5,000 for the year, and
V) Velan to receive a commission of 2,000 :
During the year, the firm made a profit of 20,000 before adjustment of interest,
salary and commission. Prepare the profit and loss appropriation account. :
46. @) Mani, Rama and Devan are partners in a firm sharing profit and losses in the ratio
of 4:3:3. Their balance sheet as on 315t March, 2019 is as follows.
Liabilities ¢ e Assets &
Capital accounts Buildings 80,000
Mani 50,000 " |'stock 20,000
Rama 50,000 - | Furniture 70,000
Devan *50,000 | 1,50,000 | Debtors 20,000
Sundry creditors 20,000 | Cash in hand | 10,000
Profit and loss A/c 30,000 _
2,00,000 2,00,000
Mani retired from the partnership firm on 31.03.2019 subject to the following
adjustments. .
i) Stock to be depreciated by 5,000 .
i) Provision for doubtful debts to be created for ¥1,000
iii) Building to be appreciated by ¥16,000
iv) The final amount due to Mani is not paid immediately
Prepare revaluation account and capital account of partners after retirement.
(OR) :
b) From the following Information relating to Sridevi Enterprises calculate the value
of goodwill on the basls of 4 years purchase of the average profit of 3 years.
i) Profit for the years ending 31" Decomber 2016, 2017 and 2018 were
71,765,000, ¥1,50,000 and ¥2,00,000 respactively.
) A Non-recurring Incomo of ¥45,000 Is Included in the profit of the year 2016.
iy The closing slock of the yoar 2017 was avervalued by 230,000
47. @) State tho differences bolweon dou(blu ontry systom and Incomplete records.
, OR) , ,
b) State tho differonces botwoen Recolpts and Payments Account and Income and

Expenditure Account,

IR Y]
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